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Goal:cut(24,12)

predicates
cutt(integer,integer)
clauses 12 Yes
cutt()((,O):—d ; ;s )l

write("g.c.dof tow number: ",X),nl,!. .
7=X,

X1=Y,

Y1=Z mod Y,

cutt(xl,Yyl).
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redicates
sum(1nteger, integer)
‘lauses
sum(0,S):-write(s),nl,!.
sum(N,S) :-
N1=N d;v 10,
N2=N mod 10, .
S1—S+N2, Goal: summar(12345,0)

sum(N1,S1). 15 Yes
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redicates _
sum(integer, integer)

‘lauses
sum(0,S) :-write(s),!.
sum(N,S) : -

N1=N div 10, Goal: sum (12345,0)

S1=S+1,
sum(N1l,s1). 5 Yes
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predicates
inv(integer, integer)
clauses
1nv(0,S):-write(s),!.
Tnv(N,S):-
N1=N div 10, KLEIHRINT AL Ki)
N2=N mod 10,
S1=S*10+N2,
inv(Nl,S1). EEZARE
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predicates
prime(integer)
primel(integer,integer)

clauses ime (0
prime(X):- " pri
oL it Goal: prime(9)
primel(X,X1).
primel(_,1):-
write("prime"),nl,!. Not prime
primgl(x,xl):—
X mod X1<>0,
X2=X1-1, Yes
primel(X,X2);
write("not prime”),nl.

X=1+1/2+1/3 +1/4 + ....+1/n 4l Aduldial) Aclal

predicates
sum(integer,real)
clauses ¢ N
sum(0,X) : - .
Wi tatx) ol Goal:sum(4,0)
sum(N,X) : -
N1=N-1,
X1=X4+ (1/N) . 2.0833333333
sum(N1,X1). Yes
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predicates _
run(integer, integer)

clauses

run(0,_):-1!. Goal: run(5,0)
run(N,J):- 2 8 26 80 242
N1=N-1,
11=1%3+2, Yes
write(J1," "),
run(N1,J1).
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predicates

RUN
mmm(1nteger, 1nteger, integer)
clauses

run:-
readint(N), readint(M) ,mmm(N,M,M).

mmm(N,M,M1): - :

M1 mod N0 Goal: run
M1 mod M=0, 12
write(M1); 5
M2=M1+1,

mmm(N,M,M2). 60 Yes
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Goal:sum(10,S

predicates
sum(real, real)

clauses
sum(0,0):-1!.
sum(N,Z):-
N1=N-1,
readint(x),
sum(N1,Z71),
Z=71+X. S=43Yes
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predicates
run
sum(integer,integer, integer)
clauses
run: -
readint(N),X=0, Y=0,sum(N,X,Y).
sum(0,X,Y):-write(X," ",Y).
sum(N,X,Y):-
N mod 2=0,!,
xTifo,l’ Goal: run
sum(N1,X1,Y); 5
N1=N-1,

Y1=Y+N,
sum(N1,X,Y1l). 6 9 Yes
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predicatesS _ _ _
strong(integer,integer,integer)

clauses
strong(_,0,1):-!. ECIeIMES e hl (AN
strong(X,Y,Z):-
Y1=Y-1, L=9
strong(X,Y1,71),

ZX%771 | 1soluation

o A3 8l g dsa g 31 e £ gana ds Lokl
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